### **CORRIGENDUM-06**

Name of the work: Conversion of Existing Overhead Power Distribution Network With Underground Power Cable Network Under Konkan Disaster Mitigation Project On Turnkey Basis At Shrivardhan Sub-Division Under Pen Circle, Raigad District, Maharshtra State

RFB no.: HLL/DMRR/UGC-PKG-03/2023-24/07 dated 29.01.2024

The Corrigendum-06 shall be treated as part of e-tender to be uploaded online duly signed and stamped along with e-tender:

Tender reference	As per Corrigendum 03	Amended as
Part 1 - Bidding Procedures and Requirements	Annexure F	Revised Annexure F (Detailed BOQ) attached.

### Important Note:

- 1. The above Corrigendum shall form part of the Tender Document and is to be submitted duly signed & stamped by the applicants along with their Application.
- 2. All other terms & condition of Tender document remains unchanged.
- 3. Prospective bidders are advised to regularly scan through <a href="https://etenders.gov.in/eprocure/app">https://etenders.gov.in/eprocure/app</a> and in HLL & HITES website tender page for corrigendum/amendments etc. and separate advertisement will not be made for this.

**VP (ID), HITES South Operations HLL Lifecare Limited** 

END OF CORRIGENDUM-06



# **BILL OF QUANTITY (BOQ) and COST DATA SHEET**

Name of District : Raigad Name of Circle : Pen

Name of Division : Goregaon Name of Sub-Division : Srivardhan

**Schedule 1: Grand Summary** 

SL No.	Proposed Bill Of Quantity	Unit	Name Of Sub- Division Quantity	Unit Rate(Rs)	Amount (Rs)	Cost References
1	Conversion of 22 KV Overhead line by 3 C, 300 Sqmm XLPE under ground Cable	Km	170	44,99,561.25	76,49,25,412.50	Activity 5502
2	Coversion of Overhead LT Line to underground by 3.5 C, 300 sqmm XLPE cable	Km	134.5	20,26,539.94	27,25,69,621.59	Activity 5510
3	STLT Conversion of overhead LT Line to underground 2 C x 16 sqmm cable	Km	175.905	2,09,439.94	3,68,41,532.21	Activity 5519
4	Supply, Erection, Testing & Commissioning of LT 4WAY Feeder Pillars	Nos	776	33,314.61	2,58,52,134.26	Activity 2002
5	Supply, Erection, Testing & Commissioning of LT mini Feeder Pillars	Nos	2438	16,382.61	3,99,40,793.43	Activity 2003
6	Supply, Erection, Testing & Commissioning of 9 way Service conn. Boxes	Nos	2408	7,434.50	1,79,02,276.00	Activity Add-A
7	Supply, Erection, Testing & Commissioning of 16 way Service conn. Boxes	Nos	806	11,464.50	92,40,387.00	Activity Add-B
8	Cost Data for laying of 1 Km. 22 KV 3 C 300 Sqmm XLPE under ground Cable	Km	4	44,03,461.25	1,76,13,845.00	Activity 813
9	Ring Main Unit (SF - 6) (3 Isolators + 2 Breaker) 22	No.s	93			Activity



	kV			8,45,135.09	7,85,97,563.02	6204
10	22 kV A.B. Switch with RSJ pole 110 X 116, 9 mtr DP with allied fabrications.	No.s	9	67,345.06	6,06,105.54	Activity 6724
11	POLE MOUNTED DISTRIBUTION TRANSFORMER SUB-STATION 100KVA, 22/0.433 KV ON RSJ POLE	No.s	5	3,71,525.70	18,57,628.51	Activity 1004
12	Coversion of Overhead LT Line to underground by 3.5 C, 240 sqmm XLPE cable	Km	37	17,64,639.94	6,52,91,677.69	Activity 5511
13	Pole mounted Distribution Transformer Substation 200 KVA, 22/0.433 kv.	No.s	2	5,49,893.08	10,99,786.15	Activity 1006
14	Foundation for RMU	No.s	93	22,199.57	20,64,560.01	Activity 6204 (Civil)
19	Dismantling of OH LT line	Km	171.50	12,400.00	21,26,600.00	
20	Dismantling of OH HT line	Km	170.00	12,400.00	21,08,000.00	
	Grand Total (Material)					
					1,33,86,37,922.90	
	Add				1,33,86,37,922.90	
		PSS	Line	PSS Cost	1,33,86,37,922.90 Line Cost	
A	Add  Cost of material	PSS 100.00%	<b>Line</b> 100.00%	PSS Cost		
A	Add			PSS Cost	Line Cost	
A	Add  Cost of material			PSS Cost	Line Cost	
	Add  Cost of material  Add	100.00%	100.00%	PSS Cost	Line Cost 1,33,86,37,922.90	
В	Add  Cost of material Add  Erection(Labour0 (on A)  Supervision Charges (on A)  Sub- Total-I	100.00%	100.00%	PSS Cost	Line Cost  1,33,86,37,922.90  20,07,95,688.44	
В	Add  Cost of material Add  Erection(Labour0 (on A)  Supervision Charges (on A)	100.00% 5% 5%	100.00% 15% 5%	PSS Cost	Line Cost  1,33,86,37,922.90  20,07,95,688.44  6,69,31,896.15	
В	Add  Cost of material Add  Erection(Labour0 (on A)  Supervision Charges (on A)  Sub- Total-I	100.00% 5% 5%	100.00% 15% 5%	PSS Cost	Line Cost  1,33,86,37,922.90  20,07,95,688.44  6,69,31,896.15	



	Add				
G	Transportation (On A)	4%	4%	-	5,35,45,516.92
Н	Contigencieson materilal( on A)	2%	2%	-	2,67,72,758.46
I	Tools & plants(On A)	1%	1%	-	1,33,86,379.23
J	Sub- Total-III	122.50%	133.00%	-	1,78,03,88,437.46
	Add:				
К	BG Charges(On Material + Centages) (On J)	0.20%	0.20%	-	35,60,776.87
L	Sub- Total-IV	122.75%	133.27%	-	1,78,39,49,214.34
	Add:				
М	Labour Cess(On Total Works Cost Instead of only Material Cost) (On L)	1%	1%	-	1,78,39,492.14
N	Insurence (On L)	1%	1%	-	1,78,39,492.14
0	Sub- Total-V	125.20%	135.93%	-	1,81,96,28,198.62
Р	Sub- Total-VI (Tender Cost Excl GST)	125.20%	135.93%	-	1,81,96,28,198.62

<sup>\*</sup> Exact Location & Quantity will be finalized during joint survey with Executing agency Note:

- 1. Unit Rates considered are as per MSEDCL approved Cost Data (FY 22-23)
- 2. Erection Charges are including digging and backfilling of Trench with Sand, Brick and Excavated Soil in proper manner
- 3. The tentative Value of RI charges is 1128.45 Lakhs



	Item Code No. 5502								
	Cost Data for conversion of 1 Km 22 KV Overhead line by 3 C, 300 Sq	mm XLPE un	der ground	Cable					
Sr.No.	Particulars	Unit	Qty.	RT/U Rs.	Amoun				
1	XLPE Cable 22 KV, 3 C / 300 mm sq.	Rmt	2000.00	1932.48	3864960.00				
2	R.C.C. Pipe 150 mm 2 M	No	60.00	572.00	34320.00				
3	Half round cement pipe ( 150mm X 1mtr)	No.	1880.00	143.00	268840.00				
4	22 kV Heat shrik Straight through joint (AI) kit for XLPE 3 C X 300 sqmm	No.	8.00	24600.00	196800.00				
5	22 kV Heat shrik Outdoor termination joint (AI) kit for XLPE 3 C X 300 sqmm	No.	4.00	13715.00	54860.00				
6	Sand	Cmt	312.50	255,30	79781.25				
	Cost of material				4499561.25				

	Item Code No. 5510								
	Coversion of Overhead LT Line to underground by 3.5 C, 300 sqmm XLPE cable								
Sr.No	Description of Material	Unit	Qty.	RT/U Rs.	Amount				
1	L.T. XLPE cable 3.5 Core 300 mm2	RMT	2000	978.75	1957500.00				
2	R.C.C. Pipe 150 mm 2 M	No	60.00	572.00	34320.00				
3	Misc. ( Bricks,sand,tremination kit and etc.)	LS	1.25	27775.95	34719.94				

Cost of material 2026539.94

	Item Code No. 5519								
C	ost Dat Conversion of overhead LT Line to un	derground 2	C x 16 sqm	m cable for 1	Km				
Sr.No.	Particulars	Unit	Qty	Rate (Rs.)	Amount				
1	L.T. XLPE Amourred 2C 16 Sqmm cable	Rmt	2000	70.20	140400.00				
2	R.C.C. Pipe 150 mm 2 M	No	60.00	572.00	34320.00				
3	Misc. ( Bricks, sand, tremination kit and etc.)	LS	1.25	27775.95	34719.94				
	Cost of material				209439.94				

	Item Code No. 2002									
	Supply, Erection, Testing 8	& Commissioning	of LT 4-W	AY Feeder Pillars						
Sr. No.	Particulars	Unit	Qty	Rate (Rs.)	Amount (Rs.					
1	L.T. Feedar Pillar 4 Way	No	1	27528.00	27528.00					
2	Earthing with GI pipe	No	2	392.85	785.70					
3	G.I.Strip (25 X 3 mm)	kG	2	90.15	180.31					
4	Sundries		1	885,50	885.50					
5	Concreting ration 1:3:6	L.S.	1	3935.10	3935.10					
	Cost of material				33314.61					



		Item Code I	No. 2003		
	Supply, Erection, Tes	ting & Commis	sioning of L	.T mini Feeder Pillar	s
Sr. No.	Particulars	Unit	Qty	Rate (Rs.)	Amount (Rs.)
1	L.T. Mini Feedar Pillar	No	1	10596.00	10596.00
2	Earthing with GI pipe	No	2	392.85	785.70
3	G.I.Strip (25 X 3 mm)	kG	2	90.15	180.31
4	Sundries		1	885.50	885.50
5	Concreting ration 1:3:6	L.S.	1	3935.10	3935.10
	Cost of material				16382.61

	Item Code No. Add-A									
	Supply, Erection, Testing & Commission	ing of 9 wa	y Service c	onn. Boxes						
Sr. No.	Particulars	Unit	Qty	Rate (Rs.)	Amount (Rs.					
1	SMC Spring Loaded Service Connection Box (9 way) for 3 Phase Incoming (R,Y,B) and 9 Nos. Single Phase Outgoing Connections	No	1	4200.00	4200.00					
2	L.T. XLPE armoured cable 3 1/2 C 35 sq.mm.	RMT	15.000	156.600	2349.00					
3	Sundries	LS	1	885.50	885.50					
	Cost of material				7434.50					

	Item Code No. Add-B Supply, Erection, Testing & Commissioning of 16 way Service conn. Boxes								
Sr. No.	Particulars	Unit	Qty	Rate (Rs.)	Amount (Rs.				
1	SMC Spring Loaded Service Connection Box (16 way) for 3 Phase Incoming (R,Y,B) and 15 Nos. Single Phase Outgoing Connections	No	1	8230.00	8230.00				
2	L.T. XLPE armoured cable 3 1/2 C 35 sq.mm.	RMT	15.000	156.600	2349.00				
4	Sundries	LS	1	885.50	885.50				
	Cost of material				11464.50				



	Item Code No. 0813								
	Cost Data for laying of 1 Km. 22 KV 3 C 300 Sqr	nm XLPE	under groun	d Cable					
Sr.No.	Particulars	Unit	Qty.	Rate (Rs.)	Amoun				
1	XLPE Cable 22 KV, 3 C / 300 mm sq.	Rmt	2000.00	1932.48	3864960.00				
2	R.C.C. Pipe 150 mm 2 M	No	60.00	572.00	34320.00				
3	Half round cement pipe ( 150mm X 1mtr)	No.	1880.00	143.00	268840.00				
4	22 kV Heat shrik Straight through joint (AI) kit for XLPE 3 C X	No.	4.00	24600.00	98400.00				
5	22 kV Heat shrik Outdoor termination joint (AI) kit for XLPE 3 C X 300 sqmm	No.	4.00	13715.00	54860.00				
6	Sand	Cmt	312.50	255.30	79781.25				
7	Misc. for XLPE U/G Cable	LS	2.00	1150.00	2300.00				
	Cost of material				4403461.25				

	Item Code No. 6204							
	Replacement of Outdoor/Indoor type Ring Main Unit (SF	- 6) (3 Isolators + 2 E	ors + 2 Breaker) 22 kV					
Sr.No	Description	Unit	Qty.	Rate/Unit Rs.	Total Cost			
-1	22 kV SF6, Motorized, SCADA Compatible RMU 3 Iso + 2 Br	Set	1	800975.00	800975.00			
2	Foundation Structure for RMU for Cable Entry Etc.	No	1	26047.59	26047.59			
3	Earthing to equipment with Salt ,Coke, earthing strip Etc.	No	1	14950.00	14950.00			
4	Sundries such as N/B, Washers, Welding etc.	kg	1	3162.50	3162.50			
	Total Cost				845135.09			

#### Total Cost of Estimate

Particulars	DPR Amount	Tender/ Estimate Amount	
	105.71%	35.930%	
Cost with overheads on Material	1738527	1148792	
Foundation for RMU	22200	22200	
Total Cost of the Estimate	1760727	1170992	

	Item C	ode No. 6724						
22 kV A.B. Switch with RSJ pole 110 X 116, 9 mtr DP with allied fabrications.								
Sr.No	Description	Unit	Qty.	Rate	Amoun			
1	22KV A.B.Switch, 400 A	Set	1	17336.40	17336.40			
2	RSJ 116x100, 9 m long	No	2	12492.90	24985.80			
3	M.S.Channel 75x40x6 mm	Kg	55	69.93	3846.15			
4	M.S. Flats(50 X 10mm)	Kg	10	65.48	654,75			
5	Disc Insulator 11 KV 45 KN	No	12	280.60	3367.20			
6	Strain Hardware forWeasel/Squirrel	Set	6	205.16	1230.98			
7	H.T.Stay Set	Set	4	807.30	3229.20			
8	G.I.Stay Wire 7/4mm(8 SWG)	Kg.	32.000	71.81	2298.00			
9	Earthing Sets H.T	Set	2	461.70	923.40			
10	G.I.Wire 8 SWG/ 6 SWG	Kg.	10.00	71.75	717.50			
11	Sundries	LS	1	885.50	885.50			
12	Concreting ration 1:3:6	LS	2	3935.10	7870.20			
	Cost of Material				67345.06			



	Item Code No POLE MOUNTED DISTRIBUTION TRANSFORMER SUE		NOVUA 2210	422 KW ON DE L DO	
S.N.	Description of Material	Unit	QTY	RT/U.Rs.	Amt Rs.
VAND-2	1 Dist.transformer 100kva,22/0.4kv	No.	1	252975.00	252975.00
	2 RSJ 116x100, 9 m long	No	2	12492.90	24985.80
	3 MS Channel 100x50x6 mm	Kg.	100	69.93	6993.00
	4 M.S.Channel 75x40x8 mm	kg.	44	69.93	3076.92
	5 MS angle 50x50x8 mm	kg.	22	69.93	1538.46
	6 M.S.Flat 50 x 6 mm	kg.	24	65.48	1571.40
	7 22 kV Pin Insulators with G.I. Pins	NO.	3	386.40	1159.20
	8 Strain Hardware for Dog0.1 or Equ.AAAC:	No.	3	369.91	1109.73
	9 L.T.Dist.Boxes 100 KVA with MCCB	No.	1	15386.40	15386.40
	10 L.A.s 22KV (Gapless type) with disconnector	Set.	1	2622.00	2622.00
	11 H.T.Stay Set	No	4	807.30	3229.20
	12 G.I.Stay Wire 7/4mm(8 SWG)	kg.	25	71.81	1795.31
	13 Earthing Sets H.T	No.	3	481.70	1385.10
	14 22KV H.G.Fuses	Set.	1	5360,40	5360.40
	15 22KV A.B.Switch, 400 A	No.	- 1	17336.40	17336.40
	16 Danger Board in yard.	No.	2	57.50	115.00
- 3	17 G.I.Wire 8 SWG/ 6 SWG	Kg.	25	71.75	1793.75
	18 G.I.Barbed Wire 'A' type.	kg.	15	80.34	1205.06
	19 Concreting ration 1:3:6	CMT.	2	3935.10	7870.20
	20 Painting/Hardware & support with numbering of pole	L.S.	1	258.75	258.75
	21 DTC Metring with Box, single core L.T. XLPE cable (70 sq.mm., 120 mtr length) and other allied material.	No.	1	18873.12	18873.12
3	22 Sundries	L.S.	1	885.50	885.50
	Cost of material	3			371525.70

	Item Code N	lo. 5511			
	Coversion of Overhead LT Line to undergr	round by 3.5 C, 2	40 sqmm )	(LPE cable	
Sr.No	Description of Material	Unit	Qty.	RT/U Rs.	Amount
1	L.T. XLPE cable 3.5 Core 240 mm2	RMT	2000	847.80	1695600,00
2	R.C.C. Pipe 150 mm 2 M	No	60.00	572.00	34320.00
3	Misc. ( Bricks,sand,tremination kit and etc.)	LS	1.25	27775.95	34719.94
	Cost of material				1764639.94



		Item Code No. 10	06		
	Cost data for Pole mounted D	stribution Transform	ner Sub-station 200	KVA, 22/0.433 kv.	
Sr.No	Description of Material	Unit	Qty.	RT/U Rs.	Amoun
1	Dist.transformer 200kva,22/0.4kv	No.	1	398476.00	398476.0
2	RSJ 116x100, 11 m long	No.	2	15269.85	30539.7
3	MS Channel 100x50x6 mm	Kg.	100	69.93	6993.0
4	M.S.Channel 75x40x6 mm	Kg.	44	69.93	3076.93
5	MS angle 50x50x6 mm	Kg.	22	69.93	1538.4
6	M.S.Flat 50 x 6 mm	Kg.	24	65.48	1571.40
7	22 kV Pin Insulators with G.I. Pins	No.	3	386.40	1159.20
8	Disc Insulator 11 KV 45 KN	No.	6	280.60	1683.60
9	Strain Hardware for 34 Sq.mm AAAC	No.	3	161.00	483.00
10	L.T.Dist.Boxes 200 KVA with MCCB	No.	1	27244.80	27244.8
11	L.A.s 22KV (Gapless type) with disconnector	No.	1	2622.00	2622.0
12	H.T.Stay Set	No.	2	807.30	1614.60
13	G.I.Stay Wire 7/4mm(8 SWG)	Kg.	16	71.81	1149.0
14	Earthing Sets H.T	No.	5	461.70	2308.50
15	22KV H.G.Fuses	Set	1	5360.40	5380.40
16	22KV A.B.Switch, 400 A	No.	1	17336.40	17336.40
17	Danger Board in yard.	No.	2	57.50	115.00
18	G.I.Strip (25 X 3 mm)	Kg.	40	90.15	3606.12
19	G.I.Barbed Wire 'A' type.	Kg.	10	80.34	803.3
20	Concreting ration 1:3:6	Cmt.	2.3	3935,10	9050.73
21	Painting of Supports & fabricated materials	LS	1	178.25	178.2
22	DTC Metring with Box, single core L.T. XLPE cable (185 sq.mm., 200 mtr length) and other allied material.	No.	1	32097.12	32097.1
23	Sundries	LS	1	885.50	885.5
	Cost of material				549893.08

conversion of 1 Km 22 KV Overhead line by 3 C, 300 Sqmm XLPE under ground Cable

- 77	Activity No 5502							
Sr no.	Div	Subdiv	Section	Location	Distance			
		33			Km			
1	Goregaon	Shriwardhan	SRN URBAN	PABRA S/S TO SHRIWARDHAN S/S	48			
2	Goregaon	Shriwardhan	SRN URBAN	SHRIWRDHAN TOWN OUTGONG FEEDER	20			
3	Goregaon	Shriwardhan	SRN R 2	JAMBHUL FEEDER UPTO VADGHAR	24			
4	Goregaon	Shriwardhan	SRN R 1	BORLI FEEDER	68			
5	Goregaon	Shriwardhan	SRN R 2	BAGMANDLA FEEDER	76			
6	Goregaon	Shriwardhan	BORLI	WADVALI FEEDER	28			
7	Goregaon	Shriwardhan	DIVEAGAR	KAPOLI	24			
8	Goregaon	Shriwardhan	DIGHI	DIGHI FEEDER	52			
				Total	340			



Overhead LT Line to underground by 3.5 C, 300 sqmm XLPE cable

Activity No 5510							
Sr no.	Div	Subdiv	Section	Location	Distance		
					Km		
1	Goregaon	Shriwardhan	BORLI	BORLI SWA MILL	3		
2	Goregaon	Shriwardhan	BORLI	MARUTI MANDIR	4		
3	Goregaon	Shriwardhan	BORLI	MARUTI MANDIR NO 2	2		
4	Goregaon	Shriwardhan	BORLI	SHANKAR MANDIR	4		
5	Goregaon	Shriwardhan	BORLI	ST STAND BORLI	5.6		
6	Goregaon	Shriwardhan	BORLI	PRANTHASTH PRANGAN	2.4		
7	Goregaon	Shriwardhan	BORLI	MORESHWAR NAGAR MORTAKI	2		
8	Goregaon	Shriwardhan	BORLI	DATTA MANDIR	4		
9	Goregaon	Shriwardhan	BORLI	ROYAL GROUND	3.6		
10	Goregaon	Shriwardhan	BORLI	BORLI HOLI	4		
11	Goregaon	Shriwardhan	BORLI	PESHMAM	2		
12	Goregaon	Shriwardhan	BORLI	BAITHAK HALL BORLI	3.6		
13	Goregaon	Shriwardhan	BORLI	MARATHI SCHOOL WADAWALI	4.4		
14	Goregaon	Shriwardhan	BORLI	KUDKI ROAD	6		
15	Goregaon	Shriwardhan	BORLI	SHANKAR MANDIR WADAWALI	4		
16	Goregaon	Shriwardhan	BORLI	DHARNACHI VADI WADAWALI	4.4		
17	Goregaon	Shriwardhan	BORLI	PATWARI	5		
18	Goregaon	Shriwardhan	HARIHARESHWA	HARESHWAR	5		
19	Goregaon	Shriwardhan	HARIHARESHWA	SHIVAJINAGAR	4		
20	Goregaon	Shriwardhan	HARIHARESHWA	HARESHWAR KATAL VIBHAG	1		
21	Goregaon	Shriwardhan	HARIHARESHWA	BHENDKHOL	3.2		
22	Goregaon	Shriwardhan	HARIHARESHWA	MARAL	4		
23	Goregaon	Shriwardhan	HARIHARESHWA	MARAL AGAR	6		
24	Goregaon	Shriwardhan	HARIHARESHWA	HARESHWAR MANDIR	2.4		
25	Goregaon	Shriwardhan	HARIHARESHWA	BAGMANDLA BAJAR PETH	1.2		
26	Goregaon	Shriwardhan	HARIHARESHWA	SAIGAON ANIMAL HOSPITAL	9		
27	Goregaon	Shriwardhan	Shriwardhan Urb	Switching Station	0.2		
28	Goregaon	Shriwardhan		ARATHI PETROL PUMP	5.6		
29	Goregaon	Shriwardhan	Shriwardhan Urb	HOSPITAL ARATHI	2.4		
30	Goregaon	Shriwardhan	Shriwardhan Urb	The state of the s	5		
31	Goregaon	Shriwardhan	Shriwardhan Urb	BAZARPETH2	4.1		
32	Goregaon	Shriwardhan	Shriwardhan Urb	BAJAR PETH	4.4		
33	Goregaon	Shriwardhan	Shriwardhan Urb	PRABHU ALI	3		
34	Goregaon	Shriwardhan	Shriwardhan Urb	Sarkhot Mohalla	3		



			Activit	ty No 5510	
Sr no.	Div	Subdiv	Section	Location	Distanc
		18			Km
35	Goregaon	Shriwardhan	Shriwardhan Urt	GHOLI MOHALLA	4
36	Goregaon	Shriwardhan	Shriwardhan Urt	KUTIR HOSPITAL	6
37	Goregaon	Shriwardhan	Shriwardhan Urt	NARAYAN PAKHADI	6
38	Goregaon	Shriwardhan	Shriwardhan Urt	CHOUKAR PAKHADI	5.3
39	Goregaon	Shriwardhan	Shriwardhan Url	DANDA1	6
40	Goregaon	Shriwardhan	Shriwardhan Url	DANDA-2	7
41	Goregaon	Shriwardhan	Shriwardhan Urt	OJALE PAKHADI	5.3
42	Goregaon	Shriwardhan	Shriwardhan Url	JIVANA VARCHA	3
43	Goregaon	Shriwardhan	Shriwardhan Urt	JIVANA KHALCHA	4.8
44	Goregaon	Shriwardhan	Shriwardhan Urt	JIVANA PAR	3
45	Goregaon	Shriwardhan	Shriwardhan Url	GAI GOTHAN	5.6
46	Goregaon	Shriwardhan	Shriwardhan Urt	TELEPHONE	3
47	Goregaon	Shriwardhan	Shriwardhan Urt	ITI TRANS	5
48	Goregaon	Shriwardhan	Shriwardhan Url	mahadkar AG	4
49	Goregaon	Shriwardhan	Shriwardhan Url	sarkhot mohalla 2	1.5
50	Goregaon	Shriwardhan	Shriwardhan Urt	arathi rest house	3
51	Goregaon	Shriwardhan	Shriwardhan Urt	gholi mohalla 2	3.6
52	Goregaon	Shriwardhan	Shriwardhan Urt	Petrol Pump 2	3.2
53	Goregaon	Shriwardhan	Shriwardhan Url	Metkarni	3.2
54	Goregaon	Shriwardhan	Shriwardhan Url	Tilak Road	2
55	Goregaon	Shriwardhan	Shriwardhan Urt	Kumbharwada	4
56	Goregaon	Shriwardhan	Shriwardhan Urt	Danda Samajmandir	2
57	Goregaon	Shriwardhan	Shriwardhan Urt	seawind	2.2
58	Goregaon	Shriwardhan	Shriwardhan Urt	Vetal pakhadi	0.4
59	Goregaon	Shriwardhan	Shriwardhan Url	Kusmadevi	4
60	Goregaon	Shriwardhan	Shriwardhan Urt	Peshve Ali	4
61	Goregaon	Shriwardhan	Shriwardhan Urt	BHAIRAVNATH PAKHADI	4
62	Goregaon	Shriwardhan	Shriwardhan Urt	METKARNI GAON	3.6
63	Goregaon	Shriwardhan	Shriwardhan Urt	SUB DISTRICT HOSPITAL	0.2
64	Goregaon	Shriwardhan	Shriwardhan Urb	TAHSIL OFFICE	1.9
65	Goregaon	Shriwardhan	Shriwardhan Urt	HOTEL SIROYA	0.2
66	Goregaon	Shriwardhan	Shriwardhan Urt	INDUS TOWER DANDA	0.2
67	Goregaon	Shriwardhan	Shriwardhan Url	VIDYA NAGAR	4
68	Goregaon	Shriwardhan	Shriwardhan Urt	JIVANA	4
69	Goregaon	Shriwardhan	Shriwardhan Url	MAHESHWARI ALI	3

			Activit	y No 5510	
Sr no.	Div	Subdiv	Section	Location	Distance
					Km
70	Goregaon	Shriwardhan	Shriwardhan Urb	KINARA HOTEL	2
71	Goregaon	Shriwardhan	Shriwardhan Urb	VITTHAL ALI	0.2
72	Goregaon	Shriwardhan	Shriwardhan Urb	BUDAN PAKHADI	2
73	Goregaon	Shriwardhan	Shriwardhan Urb	SOMJAI NAGAR	2
74	Goregaon	Shriwardhan	Shriwardhan Urb	GHOLI MOHALLA 3	2
75	Goregaon	Shriwardhan	Shriwardhan Urb	ARATHI ROYAL	1.5
76	Goregaon	Shriwardhan	Shriwardhan Urb	VIDYANAGAR 2 (KAZI)	0.2
77	Goregaon	Shriwardhan	Shriwardhan Urb	VARCHA JIVANA 2	2
78	Goregaon	Shriwardhan	Shriwardhan Urb	HIGH SCHOOL PAKHADI	3
79	Goregaon	Shriwardhan	Shriwardhan Urb	JIVNESHWAR 1	0.2
80	Goregaon	Shriwardhan	Shriwardhan Urb	JIVANA BANDAR 1	0.4
81	Goregaon	Shriwardhan	Shriwardhan Urb	VITTHAL AALI 1	0.4
82	Goregaon	Shriwardhan	Shriwardhan Urb	MARIYAM PLAZA	0.4
83	Goregaon	Shriwardhan	Diveaagar 1	Navenagar DTCC 4136611	3
			3/8	Total	269



Conversion of overhead LT Line to underground 2 C x 16 samm cable for 1 Km

Activity No 5519							
Sr no.	Div	Subdiv	Section	Location	Distance		
					Km		
1	Goregaon	Shriwardhan	BORLI	BORLI SWA MILL	3		
2	Goregaon	Shriwardhan	BORLI	MARUTI MANDIR	3.44		
3	Goregaon	Shriwardhan	BORLI	MARUTI MANDIR NO 2	2		
4	Goregaon	Shriwardhan	BORLI	SHANKAR MANDIR	4		
5	Goregaon	Shriwardhan	BORLI	ST STAND BORLI	5.6		
6	Goregaon	Shriwardhan	BORLI	PRANTHASTH PRANGAN	2.4		
7	Goregaon	Shriwardhan	BORLI	MORESHWAR NAGAR MORTAKI	2		
8	Goregaon	Shriwardhan	BORLI	DATTA MANDIR	4		
9	Goregaon	Shriwardhan	BORLI	ROYAL GROUND	7.2		
10	Goregaon	Shriwardhan	BORLI	BORLI HOLI	4		
11	Goregaon	Shriwardhan	BORLI	PESHMAM	2		
12	Goregaon	Shriwardhan	BORLI	BAITHAK HALL BORLI	3.6		
13	Goregaon	Shriwardhan	BORLI	MARATHI SCHOOL WADAWALI	4.4		
14	Goregaon	Shriwardhan	BORLI	KUDKI ROAD	6		
15	Goregaon	Shriwardhan	BORLI	SHANKAR MANDIR WADAWALI	4		
16	Goregaon	Shriwardhan	BORLI	DHARNACHI VADI WADAWALI	4.4		
17	Goregaon	Shriwardhan	BORLI	PATWARI	5		
18	Goregaon	Shriwardhan	HARIHARESHWAR	HARESHWAR	5		
19	Goregaon	Shriwardhan	HARIHARESHWAR	SHIVAJINAGAR	4		
20	Goregaon	Shriwardhan	HARIHARESHWAR	HARESHWAR KATAL VIBHAG	1		
21	Goregaon	Shriwardhan	HARIHARESHWAR	BHENDKHOL	3.2		
22	Goregaon	Shriwardhan	HARIHARESHWAR	MARAL	4		
23	Goregaon	Shriwardhan	HARIHARESHWAR	MARAL AGAR	6		
24	Goregaon	Shriwardhan	HARIHARESHWAR	HARESHWAR MANDIR	2.4		
25	Goregaon	Shriwardhan	HARIHARESHWAR	BAGMANDLA BAJAR PETH	1.2		
26	Goregaon	Shriwardhan	HARIHARESHWAR	SAIGAON ANIMAL HOSPITAL	9		
27	Goregaon	Shriwardhan	Rural 2	Jasawali Hospital	2		
28	Goregaon	Shriwardhan	Rural 2	Jasawali stop Village	3.44		
29	Goregaon	Shriwardhan	Rural 2	Jasawali Tala	2		
30	Goregaon	Shriwardhan	Rural 2	Jaswali Bridge	2.56		
31	Goregaon	Shriwardhan	Rural 2	SARPANCH GRAMPANCHAYAT JASAWALI	2.88		
32	Goregaon	Shriwardhan	Rural 2	Ranwali-II bridge	2.72		
33	Goregaon	Shriwardhan	Rural 2	Ranawali-I Ruke	2.8		
34	Goregaon	Shriwardhan	Rural 2	GRAMPANCHAYAT RANAVLI	3.6		
35	Goregaon	Shriwardhan	Rural 2	Galsure Village II Smashanbhumi	4.16		



	Activity No 5519							
Sr no.	Div	Subdiv	Section	Location	Distance			
	\$	ľ.	- 3		Km			
36	Goregaon	Shriwardhan	Rural 2	Galsure village-I Mohalla	2.4			
37	Goregaon	Shriwardhan	Rural 2	Mohalla Navanagar	3.2			
38	Goregaon	Shriwardhan	Rural 2	Galsure Kati	3.6			
39	Goregaon	Shriwardhan	SRN R2	BAPWAN VILLAGE	2			
40	Goregaon	Shriwardhan	NIGADI	Nigadi Mohlla	4.8			
41	Goregaon	Shriwardhan	NIGADI	Kolmandala Grampanchayt	4.4			
42	Goregaon	Shriwardhan	NIGADI	kolmandla kunbiwadi (Kariwane road)	3.6			
43	Goregaon	Shriwardhan	Shriwardhan Urban S	Switching Station	0.2			
44	Goregaon	Shriwardhan	Shriwardhan Urban S	ARATHI PETROL PUMP	5.6			
45	Goregaon	Shriwardhan	Shriwardhan Urban S	HOSPITAL ARATHI	2.4			
46	Goregaon	Shriwardhan	Shriwardhan Urban S	S.T DEPO	5			
47	Goregaon	Shriwardhan	Shriwardhan Urban S	BAZARPETH2	4.1			
48	Goregaon	Shriwardhan	Shriwardhan Urban S	BAJAR PETH	4.4			
49	Goregaon	Shriwardhan	Shriwardhan Urban S	PRABHU ALI	3			
50	Goregaon	Shriwardhan	Shriwardhan Urban S	Sarkhot Mohalla	3			
51	Goregaon	Shriwardhan	Shriwardhan Urban S	GHOLI MOHALLA	4			
52	Goregaon	Shriwardhan	Shriwardhan Urban S	KUTIR HOSPITAL	6			
53	Goregaon	Shriwardhan	Shriwardhan Urban S	NARAYAN PAKHADI	6			
54	Goregaon	Shriwardhan	Shriwardhan Urban S	CHOUKAR PAKHADI	5.3			
55	Goregaon	Shriwardhan	Shriwardhan Urban S	DANDA1	6			
56	Goregaon	Shriwardhan	Shriwardhan Urban S	DANDA-2	7			
57	Goregaon	Shriwardhan	Shriwardhan Urban S	OJALE PAKHADI	5.3			
58	Goregaon	Shriwardhan	Shriwardhan Urban S	JIVANA VARCHA	3			
59	Goregaon	Shriwardhan	Shriwardhan Urban S	JIVANA KHALCHA	4.8			
60	Goregaon	Shriwardhan	Shriwardhan Urban S	JIVANA PAR	3			
61	Goregaon	Shriwardhan	Shriwardhan Urban S	GAI GOTHAN	5.6			
62	Goregaon	Shriwardhan	Shriwardhan Urban S	TELEPHONE	3			
63	Goregaon	Shriwardhan	Shriwardhan Urban S	ITI TRANS	5			
64	Goregaon	Shriwardhan	Shriwardhan Urban S	mahadkar AG	4			
65		Shriwardhan	Shriwardhan Urban S	sarkhot mohalla 2	1.5			
66	Goregaon	Shriwardhan	Shriwardhan Urban S	arathi rest house	3			
67	Goregaon	Shriwardhan	Shriwardhan Urban S	gholi mohalla 2	3.6			
68	Goregaon	Shriwardhan	Shriwardhan Urban S	Petrol Pump 2	3.2			
69	Goregaon	Shriwardhan	Shriwardhan Urban S	Metkarni	3.2			
70	Goregaon	Shriwardhan	Shriwardhan Urban S	Tilak Road	2			
71	-	Shriwardhan	Shriwardhan Urban S		4			



			Activity	/ No 5519	
Sr no.	Div	Subdiv	Section	Location	Distance
					Km
72	Goregaon	Shriwardhan	Shriwardhan Urban S	Danda Samajmandir	2
73	Goregaon	Shriwardhan	Shriwardhan Urban S	seawind	2.2
74	Goregaon	Shriwardhan	Shriwardhan Urban S	Vetal pakhadi	0.4
75	Goregaon	Shriwardhan	Shriwardhan Urban S	Kusmadevi	4
76	Goregaon	Shriwardhan	Shriwardhan Urban S	Peshve Ali	4
77	Goregaon	Shriwardhan	Shriwardhan Urban S	BHAIRAVNATH PAKHADI	4
78	Goregaon	Shriwardhan	Shriwardhan Urban S	METKARNI GAON	3.6
79	Goregaon	Shriwardhan	Shriwardhan Urban S	SUB DISTRICT HOSPITAL	0.2
80	Goregaon	Shriwardhan	Shriwardhan Urban S	TAHSIL OFFICE	1.9
81	Goregaon	Shriwardhan	Shriwardhan Urban S	HOTEL SIROYA	0.2
82	Goregaon	Shriwardhan	Shriwardhan Urban S	INDUS TOWER DANDA	0.2
83	Goregaon	Shriwardhan	Shriwardhan Urban S	VIDYA NAGAR	4
84	Goregaon	Shriwardhan	Shriwardhan Urban S	JIVANA	4
85	Goregaon	Shriwardhan	Shriwardhan Urban S	MAHESHWARI ALI	3
86	Goregaon	Shriwardhan	Shriwardhan Urban S	KINARA HOTEL	2
87	Goregaon	Shriwardhan	Shriwardhan Urban S	VITTHAL ALI	0.2
88	Goregaon	Shriwardhan	Shriwardhan Urban S	BUDAN PAKHADI	2
89	Goregaon	Shriwardhan	Shriwardhan Urban S	SOMJAI NAGAR	2
90	Goregaon	Shriwardhan	Shriwardhan Urban S	GHOLI MOHALLA 3	2
91	Goregaon	Shriwardhan	Shriwardhan Urban S	ARATHI ROYAL	1
92	Goregaon	Shriwardhan	Shriwardhan Urban S	VIDYANAGAR 2 (KAZI)	0.2
93	Goregaon	Shriwardhan	Shriwardhan Urban S	THE CONTRACTOR OF THE CONTRACT	2
94	Goregaon	Shriwardhan	Shriwardhan Urban S	HIGH SCHOOL PAKHADI	3
95	Goregaon	Shriwardhan	Shriwardhan Urban S	JIVNESHWAR 1	0.2
96	Goregaon	Shriwardhan	Shriwardhan Urban S	JIVANA BANDAR 1	0.4
97	Goregaon	Shriwardhan	Shriwardhan Urban S	VITTHAL AALI 1	0.4
98	Goregaon	Shriwardhan	Shriwardhan Urban S	MARIYAM PLAZA	0.4
99	Goregaon	Shriwardhan	Rural 1	Walvati 4136206 Civil , GP , Post , MSEDCL	7.7
100	Goregaon	Shriwardhan	Rural 1	Hanuman Danda 4136231 Talathi	4
101	Goregaon	Shriwardhan	Rural 1	BANDAR MOHALLA	4
102	Goregaon	Shriwardhan	Rural 1	MAHALADANDA	3.6
103	Goregaon	Shriwardhan	Diveaagar 1	Navenagar DTCC 4136611	3
104	Goregaon	Shriwardhan	Dighi	Dighi GP office & other offices	9
				Total	350



Supply, Erection, Testing & Commissioning of LT 4--WAY Feeder Pillars

	Activity No 2002									
Sr no.	Div	Subdiv	Section	Location	Qty					
	1				No:					
1	Goregaon	Shriwardhan	BORLI	BORLI SWA MILL	7					
2	Goregaon	Shriwardhan	BORLI	MARUTI MANDIR	7					
3	Goregaon	Shriwardhan	BORLI	MARUTI MANDIR NO 2	4					
4	Goregaon	Shriwardhan	BORLI	SHANKAR MANDIR	8					
5	Goregaon	Shriwardhan	BORLI	ST STAND BORLI	10					
6	Goregaon	Shriwardhan	BORLI	PRANTHASTH PRANGAN	4					
7	Goregaon	Shriwardhan	BORLI	MORESHWAR NAGAR MORTAKI	4					
8	Goregaon	Shriwardhan	BORLI	DATTA MANDIR	9					
9	Goregaon	Shriwardhan	BORLI	ROYAL GROUND	4					
10	Goregaon	Shriwardhan	BORLI	BORLI HOLI	8					
11	Goregaon	Shriwardhan	BORLI	PESHMAM	3					
12	Goregaon	Shriwardhan	BORLI	BAITHAK HALL BORLI	5					
13	Goregaon	Shriwardhan	BORLI	MARATHI SCHOOL WADAWALI	8					
14	Goregaon	Shriwardhan	BORLI	KUDKI ROAD	10					
15	Goregaon	Shriwardhan	BORLI	SHANKAR MANDIR WADAWALI	8					
16	Goregaon	Shriwardhan	BORLI	DHARNACHI VADI WADAWALI	8					
17	Goregaon	Shriwardhan	BORLI	PATWARI	9					
18	Goregaon	Shriwardhan	HARIHARESHWA	HARESHWAR	13					
19	Goregaon	Shriwardhan	HARIHARESHWA	SHIVAJINAGAR	12					
20	Goregaon	Shriwardhan	HARIHARESHW/	HARESHWAR KATAL VIBHAG	2					
21	Goregaon	Shriwardhan	HARIHARESHWA	BHENDKHOL	10					
22	Goregaon	Shriwardhan	HARIHARESHWA	MARAL	12					
23	Goregaon	Shriwardhan	HARIHARESHWA	MARAL AGAR	15					
24	Goregaon	Shriwardhan	HARIHARESHWA	HARESHWAR MANDIR	3					
25	Goregaon	Shriwardhan	HARIHARESHWA	BAGMANDLA BAJAR PETH	3					
26	Goregaon	Shriwardhan	HARIHARESHWA	SAIGAON ANIMAL HOSPITAL	27					
27	Goregaon	Shriwardhan	Rural 2	Jasawali Hospital	4					
28	Goregaon	Shriwardhan	Rural 2	Jasawali stop Village	10					
29	Goregaon	Shriwardhan	Rural 2	Jasawali Tala	4					
30	Goregaon	Shriwardhan	Rural 2	Jaswali Bridge	8					
31	Goregaon	Shriwardhan	Rural 2	SARPANCH GRAMPANCHAYAT JASAWALI	9					
32	Goregaon	Shriwardhan	Rural 2	Ranwali-II bridge	8					
33	Goregaon	Shriwardhan	Rural 2	Ranawali-I Ruke	8					
34	Goregaon	Shriwardhan	Rural 2	GRAMPANCHAYAT RANAVLI	11					
35	Goregaon	Shriwardhan	Rural 2	Galsure Village II Smashanbhumi	13					



Activity No 2002								
Sr no.	Div	Subdiv	Section	Location	Qty			
occess.					Nos			
36	Goregaon	Shriwardhan	Rural 2	Galsure village-l Mohalla	7			
37	Goregaon	Shriwardhan	Rural 2	Mohalla Navanagar	10			
38	Goregaon	Shriwardhan	Rural 2	Galsure Kati	11			
39	Goregaon	Shriwardhan	SRN R2	BAPWAN VILLAGE	5			
40	Goregaon	Shriwardhan	NIGADI	Nigadi Mohlla	15			
41	Goregaon	Shriwardhan	NIGADI	Kolmandala Grampanchayt	13			
42	Goregaon	Shriwardhan	NIGADI	kolmandla kunbiwadi (Kariwane road)	11			
43	Goregaon	Shriwardhan	Shriwardhan Url	ARATHI PETROL PUMP	8			
44	Goregaon	Shriwardhan	Shriwardhan Url	HOSPITAL ARATHI	5			
45	Goregaon	Shriwardhan	Shriwardhan Url	S.T DEPO	12			
46	Goregaon	Shriwardhan	Shriwardhan Url	BAZARPETH2	10			
47	Goregaon	Shriwardhan	Shriwardhan Url	BAJAR PETH	9			
48	Goregaon	Shriwardhan	Shriwardhan Url	PRABHU ALI	7			
49	Goregaon	Shriwardhan	Shriwardhan Url	Sarkhot Mohalla	5			
50	Goregaon	Shriwardhan	Shriwardhan Url	GHOLI MOHALLA	4			
51	Goregaon	Shriwardhan	Shriwardhan Url	KUTIR HOSPITAL	14			
52	Goregaon	Shriwardhan	Shriwardhan Url	NARAYAN PAKHADI	14			
53	Goregaon	Shriwardhan	Shriwardhan Url	CHOUKAR PAKHADI	13			
54	Goregaon	Shriwardhan	Shriwardhan Url	DANDA1	15			
55	Goregaon	Shriwardhan	Shriwardhan Url	DANDA-2	19			
56	Goregaon	Shriwardhan	Shriwardhan Url	OJALE PAKHADI	13			
57	Goregaon	Shriwardhan	Shriwardhan Url	JIVANA VARCHA	5			
58	Goregaon	Shriwardhan	Shriwardhan Url	JIVANA KHALCHA	12			
59	Goregaon	Shriwardhan	Shriwardhan Url	JIVANA PAR	6			
60	Goregaon	Shriwardhan	Shriwardhan Url	GAI GOTHAN	9			
61	Goregaon	Shriwardhan	Shriwardhan Url	TELEPHONE	7			
62	Goregaon	Shriwardhan	Shriwardhan Url	ITI TRANS	7			
63	Goregaon	Shriwardhan	Shriwardhan Url	mahadkar AG	6			
64	Goregaon	Shriwardhan	Shriwardhan Url	sarkhot mohalla 2	3			
65	Goregaon	Shriwardhan	Shriwardhan Uri	arathi rest house	7			
66	Goregaon	Shriwardhan	Shriwardhan Url	gholi mohalla 2	7			
67	Goregaon	Shriwardhan	Shriwardhan Url	Petrol Pump 2	8			
68	Goregaon	Shriwardhan	Shriwardhan Url	Metkarni	8			
69	Goregaon	Shriwardhan	Shriwardhan Url	Tilak Road	5			
70	Goregaon	Shriwardhan	Shriwardhan Url	Kumbharwada	9			
71	Goregaon	Shriwardhan		Danda Samajmandir	5			



			Activit	y No 2002	
Sr no.	Div	Subdiv	Section	Location	Qty
	ii.	1			Nos
72	Goregaon	Shriwardhan	Shriwardhan Ur	t seawind	5
73	Goregaon	Shriwardhan	Shriwardhan Ur	t Kusmadevi	8
74	Goregaon	Shriwardhan	Shriwardhan Ur	t Peshve Ali	8
75	Goregaon	Shriwardhan	Shriwardhan Ur	BHAIRAVNATH PAKHADI	8
76	Goregaon	Shriwardhan	Shriwardhan Ur	METKARNI GAON	8
77	Goregaon	Shriwardhan	Shriwardhan Ur	TAHSIL OFFICE	4
78	Goregaon	Shriwardhan	Shriwardhan Ur	VIDYA NAGAR	8
79	Goregaon	Shriwardhan	Shriwardhan Ur	IJIVANA	9
80	Goregaon	Shriwardhan	Shriwardhan Ur	MAHESHWARI ALI	7
81	Goregaon	Shriwardhan	Shriwardhan Ur	KINARA HOTEL	4
82	Goregaon	Shriwardhan	Shriwardhan Ur	BUDAN PAKHADI	4
83	Goregaon	Shriwardhan	Shriwardhan Ur	SOMJAI NAGAR	3
84	Goregaon	Shriwardhan	Shriwardhan Ur	GHOLI MOHALLA 3	3
85	Goregaon	Shriwardhan	Shriwardhan Ur	ARATHI ROYAL	1
86	Goregaon	Shriwardhan	Shriwardhan Ur	VARCHA JIVANA 2	4
87	Goregaon	Shriwardhan	Shriwardhan Ur	HIGH SCHOOL PAKHADI	5
88	Goregaon	Shriwardhan	Rural 1	Walvati 4136206 Civil , GP , Post , MSEDCL	15
89	Goregaon	Shriwardhan	Rural 1	Hanuman Danda 4136231 Talathi	10
90	Goregaon	Shriwardhan	Rural 1	BANDAR MOHALLA	10
91	Goregaon	Shriwardhan	Rural 1	MAHALADANDA	9
92	Goregaon	Shriwardhan	Diveaagar 1	Navenagar DTCC 4136611	8
93	Goregaon	Shriwardhan	Dighi	Dighi GP office & other offices	23
				Total	776



Supply, Erection, Testing & Commissioning of LT mini Feeder Pillars

•	1	I'm and and		No 2003	1
Sr no.	Div	Subdiv	Section	Location	Qty
					Nos
1	Goregaon	Shriwardhan	BORLI	BORLI SWA MILL	21
2	Goregaon	Shriwardhan	BORLI	MARUTI MANDIR	23
3	Goregaon	Shriwardhan	BORLI	MARUTI MANDIR NO 2	12
4	Goregaon		BORLI	SHANKAR MANDIR	24
5	Goregaon		BORLI	ST STAND BORLI	28
6	Goregaon	Shriwardhan	BORLI	PRANTHASTH PRANGAN	14
7	Goregaon	Shriwardhan	BORLI	MORESHWAR NAGAR MORTAKI	12
8	Goregaon	Shriwardhan	BORLI	DATTA MANDIR	26
9	Goregaon	Shriwardhan	BORLI	ROYAL GROUND	13
10	Goregaon	Shriwardhan	BORLI	BORLI HOLI	26
11	Goregaon	Shriwardhan	BORLI	PESHMAM	12
12	Goregaon	Shriwardhan	BORLI	BAITHAK HALL BORLI	15
13	Goregaon	Shriwardhan	BORLI	MARATHI SCHOOL WADAWALI	26
14	Goregaon	Shriwardhan	BORLI	KUDKI ROAD	31
15	Goregaon	Shriwardhan	BORLI	SHANKAR MANDIR WADAWALI	23
16	Goregaon	Shriwardhan	BORLI	DHARNACHI VADI WADAWALI	26
17	Goregaon	Shriwardhan	BORLI	PATWARI	27
18	Goregaon	Shriwardhan	HARIHARESHWAR	HARESHWAR	39
19	Goregaon	Shriwardhan	HARIHARESHWAR	SHIVAJINAGAR	36
20	Goregaon	Shriwardhan	HARIHARESHWAR	HARESHWAR KATAL VIBHAG	8
21	Goregaon	Shriwardhan	HARIHARESHWAR	BHENDKHOL	30
22	Goregaon	Shriwardhan	HARIHARESHWAR	MARAL	36
23	Goregaon	Shriwardhan	HARIHARESHWAR	MARAL AGAR	47
24	Goregaon	Shriwardhan	HARIHARESHWAR	HARESHWAR MANDIR	11
25	Goregaon	Shriwardhan	HARIHARESHWAR	BAGMANDLA BAJAR PETH	12
26	Goregaon	Shriwardhan	HARIHARESHWAR	SAIGAON ANIMAL HOSPITAL	83
27	Goregaon	Shriwardhan	Shriwardhan R II	Jasawali Hospital	14
28	Goregaon	Shriwardhan	Shriwardhan R II	Jasawali stop Village	33
29	Goregaon	Shriwardhan	Shriwardhan R II	Jasawali Tala	14
30	Goregaon	Shriwardhan	Shriwardhan R II	Jaswali Bridge	24
31	Goregaon	Shriwardhan	Shriwardhan R II	SARPANCH GRAMPANCHAYAT JASAWALI	27
32	Goregaon	Shriwardhan	Shriwardhan R II	Ranwali-II bridge	26
33	Goregaon		Shriwardhan R II	Ranawali-I Ruke	27
34	Goregaon	Shriwardhan	Shriwardhan R II	GRAMPANCHAYAT RANAVLI	34
35	Goregaon	Shriwardhan	Shriwardhan R II	Galsure Village II Smashanbhumi	39
36	-	Shriwardhan	Shriwardhan R II	Galsure village-I Mohalla	23



	Activity No 2003								
Sr no.	Div	Subdiv	Section	Location	Qty				
	1000		1		No				
37	Goregaon	Shriwardhan	Shriwardhan R II	Mohalla Navanagar	30				
38	Goregaon	Shriwardhan	Shriwardhan R II	Galsure Kati	34				
39	Goregaon	Shriwardhan	Shriwardhan R II	BAPWAN VILLAGE	15				
40	Goregaon	Shriwardhan	NIGADI	Nigadi Mohlla	45				
41	Goregaon	Shriwardhan	NIGADI	Kolmandala Grampanchayt	43				
42	Goregaon	Shriwardhan	NIGADI	kolmandla kunbiwadi (Kariwane road)	34				
43	Goregaon	Shriwardhan	Shriwardhan Urban Section	Switching Station	1				
44	Goregaon	Shriwardhan	Shriwardhan Urban Section	ARATHI PETROL PUMP	29				
45	Goregaon	Shriwardhan	Shriwardhan Urban Section	HOSPITAL ARATHI	15				
46	Goregaon	Shriwardhan	Shriwardhan Urban Section	S.T DEPO	36				
47	Goregaon	Shriwardhan	Shriwardhan Urban Section	BAZARPETH2	31				
48	Goregaon	Shriwardhan	Shriwardhan Urban Section	BAJAR PETH	27				
49	Goregaon	Shriwardhan	Shriwardhan Urban Section	PRABHU ALI	23				
50	Goregaon	Shriwardhan	Shriwardhan Urban Section	Sarkhot Mohalla	17				
51	Goregaon	Shriwardhan	Shriwardhan Urban Section	GHOLI MOHALLA	14				
52	Goregaon	Shriwardhan	Shriwardhan Urban Section	KUTIR HOSPITAL	42				
53	Goregaon	Shriwardhan	Shriwardhan Urban Section	NARAYAN PAKHADI	44				
54	Goregaon	Shriwardhan	Shriwardhan Urban Section	CHOUKAR PAKHADI	40				
55	Goregaon	Shriwardhan	Shriwardhan Urban Section	DANDA1	45				
56	Goregaon	Shriwardhan	Shriwardhan Urban Section	DANDA-2	59				
57	Goregaon	Shriwardhan	Shriwardhan Urban Section	OJALE PAKHADI	40				
58	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA VARCHA	17				
59	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA KHALCHA	36				
60	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA PAR	19				
61	Goregaon	Shriwardhan	Shriwardhan Urban Section	GAI GOTHAN	29				
62	Goregaon	Shriwardhan	Shriwardhan Urban Section	TELEPHONE	23				
63	Goregaon	Shriwardhan	Shriwardhan Urban Section	ITI TRANS	23				
64	Goregaon	Shriwardhan	Shriwardhan Urban Section	mahadkar AG	19				
65	Goregaon	Shriwardhan	Shriwardhan Urban Section	sarkhot mohalla 2	12				
66	Goregaon	Shriwardhan	Shriwardhan Urban Section	arathi rest house	23				
67	Goregaon	Shriwardhan	Shriwardhan Urban Section	gholi mohalla 2	23				
68	Goregaon	Shriwardhan	Shriwardhan Urban Section	Petrol Pump 2	24				
69	Goregaon	Shriwardhan	Shriwardhan Urban Section	Metkarni	24				
70	Goregaon	Shriwardhan	Shriwardhan Urban Section	Tilak Road	17				
71	Goregaon	Shriwardhan	Shriwardhan Urban Section	Kumbharwada	28				
72	Goregaon	Shriwardhan	Shriwardhan Urban Section	Danda Samajmandir	17				
73	Goregaon	Shriwardhan	Shriwardhan Urban Section	seawind	17				



			Activity N	o 2003	
Sr no.	Div	Subdiv	Section	Location	Qty
					Nos
74	Goregaon	Shriwardhan	Shriwardhan Urban Section	Vetal pakhadi	1
75	Goregaon	Shriwardhan	Shriwardhan Urban Section	Kusmadevi	26
76	Goregaon	Shriwardhan	Shriwardhan Urban Section	Peshve Ali	26
77	Goregaon	Shriwardhan	Shriwardhan Urban Section	BHAIRAVNATH PAKHADI	26
78	Goregaon	Shriwardhan	Shriwardhan Urban Section	METKARNI GAON	23
79	Goregaon	Shriwardhan	Shriwardhan Urban Section	SUB DISTRICT HOSPITAL	1
80	Goregaon	Shriwardhan	Shriwardhan Urban Section	TAHSIL OFFICE	15
81	Goregaon	Shriwardhan	Shriwardhan Urban Section	HOTEL SIROYA	1
82	Goregaon	Shriwardhan	Shriwardhan Urban Section	INDUS TOWER DANDA	1
83	Goregaon	Shriwardhan	Shriwardhan Urban Section	VIDYA NAGAR	27
84	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA	27
85	Goregaon	Shriwardhan	Shriwardhan Urban Section	MAHESHWARI ALI	21
86	Goregaon	Shriwardhan	Shriwardhan Urban Section	KINARA HOTEL	13
87	Goregaon	Shriwardhan	Shriwardhan Urban Section	VITTHAL ALI	1
88	Goregaon	Shriwardhan	Shriwardhan Urban Section	BUDAN PAKHADI	13
89	Goregaon	Shriwardhan	Shriwardhan Urban Section	SOMJAI NAGAR	9
90	Goregaon	Shriwardhan	Shriwardhan Urban Section	GHOLI MOHALLA 3	12
91	Goregaon	Shriwardhan	Shriwardhan Urban Section	ARATHI ROYAL	5
92	Goregaon	Shriwardhan	Shriwardhan Urban Section	VIDYANAGAR 2 (KAZI)	1
93	Goregaon	Shriwardhan	Shriwardhan Urban Section	VARCHA JIVANA 2	14
94	Goregaon	Shriwardhan	Shriwardhan Urban Section	HIGH SCHOOL PAKHADI	15
95	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVNESHWAR 1	1
96	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA BANDAR 1	1
97	Goregaon	Shriwardhan	Shriwardhan Urban Section	VITTHAL AALI 1	1
98	Goregaon	Shriwardhan	Shriwardhan Urban Section	MARIYAM PLAZA	1
99	Goregaon	Shriwardhan	Shriwardhan R I	Walvati 4136206 Civil , GP , Post , MSEDCL	45
100	Goregaon	Shriwardhan	Shriwardhan R I	Hanuman Danda 4136231 Talathi	30
101	Goregaon	Shriwardhan	Shriwardhan R I	BANDAR MOHALLA	30
102	Goregaon	Shriwardhan	Shriwardhan R I	MAHALADANDA	25
103	Goregaon	Shriwardhan	Diveaagar 1	Navenagar DTCC 4136611	22
104	Goregaon	Shriwardhan	Dighi	Dighi GP office & other offices	67
				Total	243



Supply, Erection, Testing & Commissioning of 9 way Service conn. Boxes

17	T		ctivity No A	0 00	-
Sr no.	Div	Subdiv	Section	Location	Qty
		01	BORLI	BODI CHARLES	No
1	Goregaon	Shriwardhan		BORLI SWA MILL	21
2	Goregaon	Shriwardhan	BORLI	MARUTI MANDIR	12
3	Goregaon	Shriwardhan	BORLI	MARUTI MANDIR NO 2	
4	Goregaon	Shriwardhan	BORLI	SHANKAR MANDIR	22
6	Goregaon	Shriwardhan	BORLI	ST STAND BORLI	25
	Goregaon	Shriwardhan	BORLI	PRANTHASTH PRANGAN	14
7	Goregaon	Shriwardhan	BORLI	MORESHWAR NAGAR MORTAKI	12
8	Goregaon	Shriwardhan	BORLI	DATTA MANDIR	22
9	Goregaon	Shriwardhan	BORLI	ROYAL GROUND	13
10	Goregaon	Shriwardhan	BORLI	BORLI HOLI	22
11	Goregaon	Shriwardhan	BORLI	PESHMAM	12
12	Goregaon	Shriwardhan	BORLI	BAITHAK HALL BORLI	15
13	Goregaon	Shriwardhan	BORLI	MARATHI SCHOOL WADAWALI	26
14	Goregaon	Shriwardhan	BORLI	KUDKI ROAD	31
15	Goregaon	Shriwardhan	BORLI	SHANKAR MANDIR WADAWALI	23
16	Goregaon	Shriwardhan	BORLI	DHARNACHI VADI WADAWALI	26
17	Goregaon	Shriwardhan	BORLI	PATWARI	27
18	Goregaon	Shriwardhan	HARIHARESHW AR	HARESHWAR	39
19	Goregaon	Shriwardhan	HARIHARESHW AR	SHIVAJINAGAR	36
20	Goregaon	Shriwardhan	HARIHARESHW AR	HARESHWAR KATAL VIBHAG	8
21	Goregaon	Shriwardhan	HARIHARESHW AR	BHENDKHOL	30
22	Goregaon	Shriwardhan	HARIHARESHW AR	MARAL	36
23	Goregaon	Shriwardhan	HARIHARESHW AR	MARAL AGAR	47
24	Goregaon	Shriwardhan	HARIHARESHW AR	HARESHWAR MANDIR	11
25	Goregaon	Shriwardhan	HARIHARESHW AR	BAGMANDLA BAJAR PETH	12
26	Goregaon	Shriwardhan	HARIHARESHW AR	SAIGAON ANIMAL HOSPITAL	79



Activity No Add A									
Sr no.	Div	Subdiv	Section	Location	Qty				
					No				
27	Goregaon	Shriwardhan	Rural 2	Jasawali Hospital	14				
28	Goregaon	Shriwardhan	Rural 2	Jasawali stop Village	29				
29	Goregaon	Shriwardhan	Rural 2	Jasawali Tala	14				
30	Goregaon	Shriwardhan	Rural 2	Jaswali Bridge	24				
31	Goregaon	Shriwardhan	Rural 2	SARPANCH GRAMPANCHAYAT JASAV	27				
32	Goregaon	Shriwardhan	Rural 2	Ranwali-II bridge	26				
33	Goregaon	Shriwardhan	Rural 2	Ranawali-I Ruke	27				
34	Goregaon	Shriwardhan	Rural 2	GRAMPANCHAYAT RANAVLI	34				
35	Goregaon	Shriwardhan	Rural 2	Galsure Village II Smashanbhumi	39				
36	Goregaon	Shriwardhan	Rural 2	Galsure village-! Mohalla	23				
37	Goregaon	Shriwardhan	Rural 2	Mohalla Navanagar	30				
38	Goregaon	Shriwardhan	Rural 2	Galsure Kati	34				
39	Goregaon	Shriwardhan	SRN R2	BAPWAN VILLAGE	15				
40	Goregaon	Shriwardhan	NIGADI	Nigadi Mohlla	41				
41	Goregaon	Shriwardhan	NIGADI	Kolmandala Grampanchayt	41				
42	Goregaon	Shriwardhan	NIGADI	kolmandla kunbiwadi (Kariwane road	33				
43	Goregaon	Shriwardhan	Shriwardhan Urban Section	Switching Station	1				
44	Goregaon	Shriwardhan	Shriwardhan Urban Section	ARATHI PETROL PUMP	29				
45	Goregaon	Shriwardhan	Shriwardhan Urban Section	HOSPITAL ARATHI	15				
46	Goregaon	Shriwardhan	Shriwardhan Urban Section	S.T DEPO	36				
47	Goregaon	Shriwardhan	Shriwardhan Urban Section	BAZARPETH2	31				
48	Goregaon	Shriwardhan	Shriwardhan Urban Section	BAJAR PETH	27				
49	Goregaon	Shriwardhan	Shriwardhan Urban Section	PRABHU ALI	23				
50	Goregaon	Shriwardhan	Shriwardhan Urban Section	Sarkhot Mohalla	17				
51	Goregaon	Shriwardhan	Shriwardhan Urban Section	GHOLI MOHALLA	14				
52	Goregaon	Shriwardhan	Shriwardhan Urban Section	KUTIR HOSPITAL	42				



Sr no.	Div	Subdiv	Section	Location	Qty
					No
53	Goregaon	Shriwardhan	Shriwardhan Urban Section	NARAYAN PAKHADI	44
54	Goregaon	Shriwardhan	Shriwardhan Urban Section	CHOUKAR PAKHADI	40
55	Goregaon	Shriwardhan	Shriwardhan Urban Section	DANDA1	45
56	Goregaon	Shriwardhan	Shriwardhan Urban Section	DANDA-2	59
57	Goregaon	Shriwardhan	Shriwardhan Urban Section	OJALE PAKHADI	40
58	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA VARCHA	17
59	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA KHALCHA	36
60	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA PAR	19
61	Goregaon	Shriwardhan	Shriwardhan Urban Section	GAI GOTHAN	29
62	Goregaon	Shriwardhan	Shriwardhan Urban Section	TELEPHONE	23
63	Goregaon	Shriwardhan	Shriwardhan Urban Section	ITI TRANS	23
64	Goregaon	Shriwardhan	Shriwardhan Urban Section	mahadkar AG	19
65	Goregaon	Shriwardhan	Shriwardhan Urban Section	sarkhot mohalla 2	12
66	Goregaon	Shriwardhan	Shriwardhan Urban Section	arathi rest house	23
67	Goregaon	Shriwardhan	Shriwardhan Urban Section	gholi mohalla 2	23
68	Goregaon	Shriwardhan	Shriwardhan Urban Section	Petrol Pump 2	24
69	Goregaon	Shriwardhan	Shriwardhan Urban Section	Metkarni	24
70	Goregaon	Shriwardhan	Shriwardhan Urban Section	Tilak Road	17



Sr no.	Div	Subdiv	Section	Location	Qty
		3.55			No
71	Goregaon	Shriwardhan	Shriwardhan Urban Section	Kumbharwada	28
72	Goregaon	Shriwardhan	Shriwardhan Urban Section	Danda Samajmandir	17
73	Goregaon	Shriwardhan	Shriwardhan Urban Section	seawind	17
74	Goregaon	Shriwardhan	Shriwardhan Urban Section	Vetal pakhadi	1
75	Goregaon	Shriwardhan	Shriwardhan Urban Section	Kusmadevi	26
76	Goregaon	Shriwardhan	Shriwardhan Urban Section	Peshve Ali	26
77	Goregaon	Shriwardhan	Shriwardhan Urban Section	BHAIRAVNATH PAKHADI	26
78	Goregaon	Shriwardhan	Shriwardhan Urban Section	METKARNI GAON	23
79	Goregaon	Shriwardhan	Shriwardhan Urban Section	SUB DISTRICT HOSPITAL	1
80	Goregaon	Shriwardhan	Shriwardhan Urban Section	TAHSIL OFFICE	15
81	Goregaon	Shriwardhan	Shriwardhan Urban Section	HOTEL SIROYA	1
82	Goregaon	Shriwardhan	Shriwardhan Urban Section	INDUS TOWER DANDA	1
83	Goregaon	Shriwardhan	Shriwardhan Urban Section	VIDYA NAGAR	27
84	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA	27
85	Goregaon	Shriwardhan	Shriwardhan Urban Section	MAHESHWARI ALI	21
86	Goregaon	Shriwardhan	Shriwardhan Urban Section	KINARA HOTEL	13
87	Goregaon	Shriwardhan	Shriwardhan Urban Section	VITTHAL ALI	1
88	Goregaon	Shriwardhan	Shriwardhan Urban Section	BUDAN PAKHADI	13



		A	ctivity No A	Add A	
Sr no.	Div	Subdiv	Section	Location	Qty
					No
89	Goregaon	Shriwardhan	Shriwardhan Urban Section	SOMJAI NAGAR	9
90	Goregaon	Shriwardhan	Shriwardhan Urban Section	GHOLI MOHALLA 3	12
91	Goregaon	Shriwardhan	Shriwardhan Urban Section	ARATHI ROYAL	5
92	Goregaon	Shriwardhan	Shriwardhan Urban Section	VIDYANAGAR 2 (KAZI)	1
93	Goregaon	Shriwardhan	Shriwardhan Urban Section	VARCHA JIVANA 2	14
94	Goregaon	Shriwardhan	Shriwardhan Urban Section	HIGH SCHOOL PAKHADI	15
95	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVNESHWAR 1	1
96	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA BANDAR 1	1
97	Goregaon	Shriwardhan	Shriwardhan Urban Section	VITTHAL AALI 1	1
98	Goregaon	Shriwardhan	Shriwardhan Urban Section	MARIYAM PLAZA	1
99	Goregaon	Shriwardhan	Rural 1	Walvati 4136206 Civil, GP, Post, MS	45
100	Goregaon	Shriwardhan	Rural 1	Hanuman Danda 4136231 Talathi	30
101	Goregaon	Shriwardhan	Rural 1	BANDAR MOHALLA	30
102	Goregaon	Shriwardhan	Rural 1	MAHALADANDA	25
103	Goregaon	Shriwardhan	Diveaagar 1	Navenagar DTCC 4136611	22
104	Goregaon	Shriwardhan	Dighi	Dighi GP office & other offices	67
		- 1		Total	240



Supply, Erection, Testing & Commissioning of 16 way Service conn. Boxes

Activity No Add B							
Sr no.	Div	Subdiv	Section	Location	Qty		
	S.				Nos		
1	Goregaon	Shriwardhan	BORLI	BORLI SWA MILL	7		
2	Goregaon	Shriwardhan	BORLI	MARUTI MANDIR	9		
3	Goregaon	Shriwardhan	BORLI	MARUTI MANDIR NO 2	4		
4	Goregaon	Shriwardhan	BORLI	SHANKAR MANDIR	10		
5	Goregaon	Shriwardhan	BORLI	ST STAND BORLI	13		
6	Goregaon	Shriwardhan	BORLI	PRANTHASTH PRANGAN	4		
7	Goregaon	Shriwardhan	BORLI	MORESHWAR NAGAR MORTAKI	4		
8	Goregaon	Shriwardhan	BORLI	DATTA MANDIR	13		
9	Goregaon	Shriwardhan	BORLI	ROYAL GROUND	4		
10	Goregaon	Shriwardhan	BORLI	BORLI HOLI	12		
11	Goregaon	Shriwardhan	BORLI	PESHMAM	3		
12	Goregaon	Shriwardhan	BORLI	BAITHAK HALL BORLI	5		
13	Goregaon	Shriwardhan	BORLI	MARATHI SCHOOL WADAWALI	8		
14	Goregaon	Shriwardhan	BORLI	KUDKI ROAD	10		
15	Goregaon	Shriwardhan	BORLI	SHANKAR MANDIR WADAWALI	8		
16	Goregaon	Shriwardhan	BORLI	DHARNACHI VADI WADAWALI	8		
17	Goregaon	Shriwardhan	BORLI	PATWARI	9		
18	Goregaon	Shriwardhan	HARIHARESHWAR	HARESHWAR	13		
19	Goregaon	Shriwardhan	HARIHARESHWAR	SHIVAJINAGAR	12		
20	Goregaon	Shriwardhan	HARIHARESHWAR	HARESHWAR KATAL VIBHAG	2		
21	Goregaon	Shriwardhan	HARIHARESHWAR	BHENDKHOL	10		
22	Goregaon	Shriwardhan	HARIHARESHWAR	MARAL	12		
23	Goregaon	Shriwardhan	HARIHARESHWAR	MARAL AGAR	15		
24	Goregaon	Shriwardhan	HARIHARESHWAR	HARESHWAR MANDIR	3		
25	Goregaon	Shriwardhan	HARIHARESHWAR	BAGMANDLA BAJAR PETH	3		
26	Goregaon	Shriwardhan	HARIHARESHWAR	SAIGAON ANIMAL HOSPITAL	31		
27	Goregaon	Shriwardhan	Rural 2	Jasawali Hospital	4		
28	Goregaon	Shriwardhan	Rural 2	Jasawali stop Village	14		
29	Goregaon	Shriwardhan	Rural 2	Jasawali Tala	4		
30	Goregaon	Shriwardhan	Rural 2	Jaswali Bridge	8		
31		Shriwardhan	Rural 2	SARPANCH GRAMPANCHAYAT JASAWALI	9		
32	Goregaon	Shriwardhan	Rural 2	Ranwali-II bridge	8		



Activity No Add B							
Sr no.	Div	Subdiv	Section	Location	Qty		
					Nos		
33	Goregaon	Shriwardhan	Rural 2	Ranawali-I Ruke	8		
34	Goregaon	Shriwardhan	Rural 2	GRAMPANCHAYAT RANAVLI	11		
35	Goregaon	Shriwardhan	Rural 2	Galsure Village II Smashanbhumi	13		
36	Goregaon	Shriwardhan	Rural 2	Galsure village-I Mohalla	7		
37	Goregaon	Shriwardhan	Rural 2	Mohalla Navanagar	10		
38	Goregaon	Shriwardhan	Rural 2	Galsure Kati	11		
39	Goregaon	Shriwardhan	SRN R2	BAPWAN VILLAGE	5		
40	Goregaon	Shriwardhan	NIGADI	Nigadi Mohlla	19		
41	Goregaon	Shriwardhan	NIGADI	Kolmandala Grampanchayt	15		
42	Goregaon	Shriwardhan	NIGADI	kolmandia kunbiwadi (Kariwane road)	12		
43	Goregaon	Shriwardhan	Shriwardhan Urban Section	ARATHI PETROL PUMP	8		
44	Goregaon	Shriwardhan	Shriwardhan Urban Section	HOSPITAL ARATHI	5		
45	Goregaon	Shriwardhan	Shriwardhan Urban Section	S.T DEPO	12		
46	Goregaon	Shriwardhan	Shriwardhan Urban Section	BAZARPETH2	10		
47	Goregaon	Shriwardhan	Shriwardhan Urban Section	BAJAR PETH	9		
48	Goregaon	Shriwardhan	Shriwardhan Urban Section	PRABHU ALI	7		
49	Goregaon	Shriwardhan	Shriwardhan Urban Section	Sarkhot Mohalla	5		
50	Goregaon	Shriwardhan	Shriwardhan Urban Section	GHOLI MOHALLA	4		
51	Goregaon	Shriwardhan	Shriwardhan Urban Section	KUTIR HOSPITAL	14		
52	Goregaon	Shriwardhan	Shriwardhan Urban Section	NARAYAN PAKHADI	14		
53	Goregaon	Shriwardhan	Shriwardhan Urban Section	CHOUKAR PAKHADI	13		
54	Goregaon	Shriwardhan	Shriwardhan Urban Section	DANDA1	15		
55	Goregaon	Shriwardhan	Shriwardhan Urban Section	DANDA-2	19		
56	Goregaon	Shriwardhan	Shriwardhan Urban Section	OJALE PAKHADI	13		
57	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA VARCHA	5		
58	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA KHALCHA	12		
59	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA PAR	6		
60	Goregaon	Shriwardhan	Shriwardhan Urban Section	GAI GOTHAN	9		
61	Goregaon	Shriwardhan	Shriwardhan Urban Section	TELEPHONE	7		
62	Goregaon	Shriwardhan	Shriwardhan Urban Section	ITI TRANS	7		
63	Goregaon	Shriwardhan	Shriwardhan Urban Section	mahadkar AG	6		
64		Shriwardhan	Shriwardhan Urban Section	sarkhot mohalla 2	3		
65	Goregaon	Shriwardhan	Shriwardhan Urban Section	arathi rest house	7		



			Activity	No Add B	
Sr no.	Div	Subdiv	Section	Location	Qty
					Nos
66	Goregaon	Shriwardhan	Shriwardhan Urban Section	gholi mohalla 2	7
67	Goregaon	Shriwardhan	Shriwardhan Urban Section	Petrol Pump 2	8
68	Goregaon	Shriwardhan	Shriwardhan Urban Section	Metkami	8
69	Goregaon	Shriwardhan	Shriwardhan Urban Section	Tilak Road	5
70	Goregaon	Shriwardhan	Shriwardhan Urban Section	Kumbharwada	9
71	Goregaon	Shriwardhan	Shriwardhan Urban Section	Danda Samajmandir	5
72	Goregaon	Shriwardhan	Shriwardhan Urban Section	seawind	5
73	Goregaon	Shriwardhan	Shriwardhan Urban Section	Kusmadevi	8
74	Goregaon	Shriwardhan	Shriwardhan Urban Section	Peshve Ali	8
75	Goregaon	Shriwardhan	Shriwardhan Urban Section	BHAIRAVNATH PAKHADI	8
76	Goregaon	Shriwardhan	Shriwardhan Urban Section	METKARNI GAON	8
77	Goregaon	Shriwardhan	Shriwardhan Urban Section	TAHSIL OFFICE	4
78	Goregaon	Shriwardhan	Shriwardhan Urban Section	VIDYA NAGAR	8
79	Goregaon	Shriwardhan	Shriwardhan Urban Section	JIVANA	9
80	Goregaon	Shriwardhan	Shriwardhan Urban Section	MAHESHWARI ALI	7
81	Goregaon	Shriwardhan	Shriwardhan Urban Section	KINARA HOTEL	4
82	Goregaon	Shriwardhan	Shriwardhan Urban Section	BUDAN PAKHADI	4
83	Goregaon	Shriwardhan	Shriwardhan Urban Section	SOMJAI NAGAR	3
84	Goregaon	Shriwardhan	Shriwardhan Urban Section	GHOLI MOHALLA 3	3
85	Goregaon	Shriwardhan	Shriwardhan Urban Section	ARATHI ROYAL	1
86	Goregaon	Shriwardhan	Shriwardhan Urban Section	VARCHA JIVANA 2	4
87	Goregaon	Shriwardhan	Shriwardhan Urban Section	HIGH SCHOOL PAKHADI	5
88	Goregaon	Shriwardhan	Rural 1	Walvati 4136206 Civil , GP , Post , MSEDCL	15
89	Goregaon	Shriwardhan	Rural 1	Hanuman Danda 4136231 Talathi	10
90	Goregaon	Shriwardhan	Rural 1	BANDAR MOHALLA	10
91	Goregaon	Shriwardhan	Rural 1	MAHALADANDA	9
92	Goregaon	Shriwardhan	Diveaagar 1	Navenagar DTCC 4136611	8
93	Goregaon	Shriwardhan	Dighi	Dighi GP office & other offices	23
				Total	806



laying of 1 Km. 22 KV 3 C 300 Sqmm XLPE under ground Cable

	Activity No 813							
Sr no.	Div	Subdiv	Section	Location	Distance			
					Km			
1	Goregaon	Shriwardhan	Shriwardhan R2	Jambhul feeder And Bagmandia Feeder	3			
2	Goregaon	Shriwardhan	Shriwardhan R1	SRNT and BORLI Feeder	5			
		-		Total	8			



Ring Main Unit (SF - 6) (3 Isolators + 2 Breaker) 22 kV

Activity No 6204							
Sr no.	Div	Subdiv	Section	Location	Qty		
					Nos		
1	Goregaon	Shriwardhan	Diveagar 1	4 no. Naka	1		
2	Goregaon	Shriwardhan	Diveagar 1	3 no Naka	1		
3	Goregaon	Shriwardhan	Diveagar 1	Bhairawanath	1		
4	Goregaon	Shriwardhan	Diveagar 1	Mauli	1		
5	Goregaon	Shriwardhan	Diveagar 1	Bharadkhol	1		
6	Goregaon	Shriwardhan	Borli	S T Stand	1		
7	Goregaon	Shriwardhan	Borli	konda road	1		
8	Goregaon	Shriwardhan	Borli	mor taki	1		
9	Goregaon	Shriwardhan	Borli	saw mill	1		
10	Goregaon	Shriwardhan	Borli	BSNL	1		
11	Goregaon	Shriwardhan	Borli	nasa point	1		
12	Goregaon	Shriwardhan	Dighi	bhrana	1		
13	Goregaon	Shriwardhan	Dighi	kudgaon	1		
14	Goregaon	Shriwardhan	Dighi	harwed	1		
15	Goregaon	Shriwardhan	Dighi	nanvel	1		
16	Goregaon	Shriwardhan	SRN R-1	therdi	1		
17	Goregaon	Shriwardhan	SRN R-1	paradeshi	1		
18	Goregaon	Shriwardhan	SRN R-1	shekhadi	1		
19	Goregaon	Shriwardhan	SRN R-1	arawi	1		
20	Goregaon	Shriwardhan	SRN R-1	bharadoli	1		
21	Goregaon	Shriwardhan	SRN R-1	mannyar	1		
22	Goregaon	Shriwardhan	SRN R-1	mhapada	1		
23	Goregaon	Shriwardhan	SRN R-1	wave	1		
24	Goregaon	Shriwardhan	SRN R-1	dhanagar malai	1		
25	Goregaon	Shriwardhan	SRN R-1	karle	1		
26	Goregaon	Shriwardhan	SRN R-1	telephone	1		
27	Goregaon	Shriwardhan	SRN R-2	jasawali	1		
28	Goregaon	Shriwardhan	SRN R-2	NT more	1		
29	Goregaon	Shriwardhan	SRN R-2	ranawali	1		
30	Goregaon	Shriwardhan	SRN R-2	galsure	1		
31	Goregaon	Shriwardhan	SRN R-2	bapwan	1		
32	Goregaon	Shriwardhan	Nigadi	wave nigadi	1		



Activity No 6204							
Sr no.	Div	Subdiv	Section	Location	Qty		
					Nos		
33	Goregaon	Shriwardhan	Nigadi	wave	1		
34	Goregaon	Shriwardhan	Nigadi	nigadi	1		
35	Goregaon	Shriwardhan	Nigadi	kolmandala	1		
36	Goregaon	Shriwardhan	URBAN	ST stand	1		
37	Goregaon	Shriwardhan	URBAN	gandre naka	1		
38	Goregaon	Shriwardhan	URBAN	Market	1		
39	Goregaon	Shriwardhan	URBAN	narayan pakhadi	1		
40	Goregaon	Shriwardhan	URBAN	jivaneshwar tala	1		
41	Goregaon	Shriwardhan	URBAN	dumping ground	1		
42	Goregaon	Shriwardhan	URBAN	Arathi rest house	1		
43	Goregaon	Shriwardhan	Harihareshwar	kelichiwadi	1		
44	Goregaon	Shriwardhan	Harihareshwar	saigaon	1		
45	Goregaon	Shriwardhan	Harihareshwar	kurwada	1		
46	Goregaon	Shriwardhan	Harihareshwar	bhendkhol	1		
47	Goregaon	Shriwardhan	Diveagar 2	dattamandir	1		
48	Goregaon	Shriwardhan	Diveagar 2	wawe panchtan	1		
49	Goregaon	Shriwardhan	Diveagar 2	new vasahat	1		
50	Goregaon	Shriwardhan	INCOMER	Khargaon bk	1		
51	Goregaon	Shriwardhan	INCOMER	Mhasala tala phata	1		
52	Goregaon	Shriwardhan	INCOMER	Mhasala bypass	1		
53	Goregaon	Shriwardhan	INCOMER	Chirathi	1		
54	Goregaon	Shriwardhan	INCOMER	college	1		
55	Goregaon	Shriwardhan	INCOMER	ravi prabha	1		
56	Goregaon	Shriwardhan	INCOMER	S Corner	1		
57	Goregaon	Shriwardhan	INCOMER	Dhumal hotel	1		
58	Goregaon	Shriwardhan	INCOMER	Swami samrth math	1		
59	Goregaon	Shriwardhan	INCOMER	SNDT COLLEGE	1		
60	Goregaon	Shriwardhan	INCOMER	Meghara phata	1		
61	Goregaon	Shriwardhan	INCOMER	ITI	1		
62	Goregaon	Shriwardhan	INCOMER	Jasawali Tala	1		
63	Goregaon	Shriwardhan	INCOMER	Bhattichamal	1		
64	Goregaon	Shriwardhan	SRN R-2	Dhumal hotel for Jambhul	1		
65	Goregaon	Shriwardhan	SRN R-2	Swami samrth math for Jambhul	1		



			Activity	No 6204	
Sr no.	Div	Subdiv	Section	Location	Qty
					Nos
66	Goregaon	Shriwardhan	SRN R-2	SNDT COLLEGE for Jambhul	1
67	Goregaon	Shriwardhan	SRN R-2	Meghara phata for jambhul	1
68	Goregaon	Shriwardhan	SRN R-2	ITI for Jambhul	1
69	Goregaon	Shriwardhan	URBAN	Shivaji chowk	1
70	Goregaon	Shriwardhan	URBAN	Metkarni	1
71	Goregaon	Shriwardhan	URBAN	Kutir hospital	1
72	Goregaon	Shriwardhan	URBAN	Kabrsthan	1
73	Goregaon	Shriwardhan	URBAN	bhairawanath pakadi	1
74	Goregaon	Shriwardhan	URBAN	vithal ali	1
75	Goregaon	Shriwardhan	URBAN	gaigothan	1
76	Goregaon	Shriwardhan	URBAN	ICE Factory	1
77	Goregaon	Shriwardhan	Borli	godghar phata	1
78	Goregaon	Shriwardhan	Borli	wadvali fata	1
79	Goregaon	Shriwardhan	Borli	velas	1
80	Goregaon	Shriwardhan	Borli	velas aagar	1
81	Goregaon	Shriwardhan	Diveagar 1	shiste	1
82	Goregaon	Shriwardhan	Diveagar 1	kapoli fata	1
83	Goregaon	Shriwardhan	Diveagar 1	borli panchtan	1
84	Goregaon	Shriwardhan	Diveagar 1	wadwali fata	1
85	Goregaon	Shriwardhan	Diveagar 1	kulaki fata	1
86	Goregaon	Shriwardhan	Dighi	dighi port	1
87	Goregaon	Shriwardhan	Dighi	velas	1
88	Goregaon	Shriwardhan	Dighi	karlas	1
89	Goregaon	Shriwardhan	Dighi	dighi village	1
90	Goregaon	Shriwardhan	URBAN	Mulgaon Koliwada	1
91	Goregaon	Shriwardhan	URBAN	Lambe	1
92	Goregaon	Shriwardhan	SRN R-2	Jasawali Tala	1
93	Goregaon	Shriwardhan	SRN R-1	walvati	1
	22			Total	93



Activity No 6724  22 kV A.B. Switch with RSJ pole 110 X 116, 9 mtr DP with allied fabrications.								
1	Goregaon	Shriwardhan	Rural 2	Ranwali Dam	1			
2	Goregaon	Shriwardhan	Rural 2	Bhatticha Mal	1			
3	Goregaon	Shriwardhan	Nigadi	Kariwane	1			
4	Goregaon	Shriwardhan	Nigadi	Sakharone	1			
5	Goregaon	Shriwardhan	Nigadi	Dharawali	1			
6	Goregaon	Shriwardhan	Nigadi	Adi-Mahad Khadi	1			
76	Goregaon	Shriwardhan	Harihareshwar	Maral	1			
8	Goregaon	Shriwardhan	Harihareshwar	Danda -Bagmandla	1			
9	Goregaon	Shriwardhan	Rural 1	Aravi	1			
				Total	9			



# **Activity No 1004**

100 kVA Dist. Transformer centers on RSJ 9 mtr 100x116 poles with MCCB Dist box

Sr no.	Div	Subdiv	Section	Location	KVA Rating	Quantity
1	Goregaon	Shriwardhan	Urban	Police station	100	1
2	Goregaon	Shriwardhan	Urban	Civil Hospital	100	1
3	Goregaon	Shriwardhan	Urban	Panchayat Samiti	100	1
4	Goregaon	Shriwardhan	Borli	Police Station & GP Office	100	1
5	Goregaon	Shriwardhan	Harihareshwar	GP Office	200	1
				<del>si.</del>	Total	5



Coversion of Overhead LT Line to underground by 3.5 C, 240 sqmm XLPE cable

			Activity	/ No 5511	
Sr no.	Div	Subdiv	Section	Location	Distance KN
1	Goregaon	Shriwardhan	BORLI	BORLI SWA MILL	3
2	Goregaon	Shriwardhan	Rural 2	Jasawali Hospital	2
3	Goregaon	Shriwardhan	Rural 2	Jasawali stop Village	4
4	Goregaon	Shriwardhan	Rural 2	Jasawali Tala	2
5	Goregaon	Shriwardhan	Rural 2	Jaswali Bridge	3
6	Goregaon	Shriwardhan	Rural 2	SARPANCH GRAMPANCHAYAT JASAWALI	4
7	Goregaon	Shriwardhan	Rural 2	Ranwali-II bridge	3
8	Goregaon	Shriwardhan	Rural 2	Ranawali-I Ruke	3
9	Goregaon	Shriwardhan	Rural 2	GRAMPANCHAYAT RANAVLI	4
10	Goregaon	Shriwardhan	Rural 2	Galsure Village II Smashanbhumi	4.5
11	Goregaon	Shriwardhan	Rural 2	Galsure village-l Mohalla	2.4
12	Goregaon	Shriwardhan	Rural 2	Mohalla Navanagar	3.2
13	Goregaon	Shriwardhan	Rural 2	Galsure Kati	4
14	Goregaon	Shriwardhan	SRN R2	BAPWAN VILLAGE	2
15	Goregaon	Shriwardhan	NIGADI	Nigadi Mohlla	4.9
16	Goregaon	Shriwardhan	NIGADI	Kolmandala Grampanchayt	4.4
17	Goregaon	Shriwardhan	NIGADI	kolmandla kunbiwadi (Kariwane road)	3.6
18	Goregaon	Shriwardhan	Rural 1	Walvati 4136206 Civil , GP , Post , MSEDCL	7
19	Goregaon	Shriwardhan	Rural 1	Hanuman Danda 4136231 Talathi	4
20	Goregaon	Shriwardhan	Rural 1	BANDAR MOHALLA	4
21	Goregaon	Shriwardhan	Rural 1	MAHALADANDA	3.6
22	Goregaon	Shriwardhan	Dighi	Dighi GP office & other offices	9
				Total	74.00



Pole mounted Distribution Transformer Sub-station 200 KVA, 22/0.433 kv.

## Activity No 1006

Sr no.	Div	Subdiv	Section	Location	KVA Rating	Quantity
1	Goregaon	Shriwardhan	SRN U	Tahasil office	200	1
2	Goregaon	Shriwardhan	SRN R I	Walvati Civil Hospital,Talathi,Post&GP Offices	200	í
			1	21	Total	2